P ‘{' 5 | .

'3 | FENIX & SCISSON, INC. 70585

b ©«  ERGINEERS - CONTRACTORS |

T0: - J0B: D/ 1664

' \7; (A D L «“g OS> = :

* TWINING EXPERTENCE TRROUGH FAULTED
~ WELDED TUFF BEDS IN U126 TUNNEL

e g 7T AL  gfe  RE:_“ROCK MECHANICS* DRIFT

DATE: September 23, 1985

A 16.5' ¥ x 16.5' H x 98' L horizontal drift was mined in the welded tuff beds
in “G" tunnel between 10-7-81 and 2-18-82. The top slice was conventionally
mined by drilling and blasting a 16.5' W x 11' H top slice to CS otfg prior to
mining the bottom cut 16.5' ¥ x 6° H. ,

As the top slice advanced, 7/8' x 8' rock bolts with resin anchors were
installed on a 3*' x 4' pattern. On 11-6-81, when the top slice face was at C$S
0+41, 1-1/8" x 16' resin anchored hardening rock bolts were installed 5 each per
row across the crown of the drift beginning at CS 0+10. Rows of hardening rock
bolts were installed 5 per row with 4' between bolts in the row and 4' between
rows at a pace that resulted in the hardening rock bolts being installed about
40' behind the face of the top slice drift which was already supported with 7/8*
x 8 resin anchored "personnel protection® rock bolts.

The near vertical fault with about 3' of vertical displacement which transverses
the drift at CS 0+60 was mined across on 11-19-81 without comment by the F&S
mining inspector in his daily inspection log. On 12-2-81, when the face for the
top slice was at CS 0478, the F&S mining inspector commented in his daily log:
“In drift back at CS 0+60, the formation changes from a2 welded red tuff to a
1ight grey non-welded tuff on a 59, ang1€, (fault). *Non-welded grey tuff measures
3' thick in the back at CS 0+78." On 12-4-81 the non-welded grey tuff was
reported as 2' thick in the top of face at CS 0+85 indicating about an 8
positive dip of the contact between the welded and non-welded tuff,

The inspection record shows that the area of the drift with the fault was
initially mined on 11-19-81. Preliminary 7/8" x 8' rock bolts were installed in
the faulted area 11-20-81 and then on 2-16-82, roughly 3 months later, 1-1/8" x
16* resin anchored hardening rock bolts were installed on a 4' x 4' pattern
across the back in the area adjacent to the fault at CS 0+460. There was no .
record of the faulted area resulting in ground support problems, and no specia1
bolting was installed in the area of the fault.

The conclusion drawn is that the crossing of the near vertical fault with 3' of
vertical displacement did not result in the need for any special ground support
in excess of the standard used in the drift where no faulting occured..

HET:sjk |
Enclosures:

1. Drift plan of rock mechanics drift containing faulted zone in the
welded tuff beds.

2. Daily mining inspection 1logs for dateslo- 7-81. 11-4-81, 11-6- 81.
12-2-81. 1-5-82, and 2-16-82. '

J. SHMMO’,.MIhI.ﬂf Forgn. Keps [/1-02-87 %6 A~/8-2a



F&S MINING INSPECTION RECORD
EXCERPTS FROM DAILY INSPECTION LOG
U126 ROCK MECHANICS DRIFT - 16.5'W X 16.5'H X 98°L

DATE . STATION | ACTIVITY

11"-03-81 0+33 Top slice mining 17°w x 11'h, Drilling 6' blast
: round; 88 each, tl’-lm" diameter holes.
© 11-04-81 0+41 6' round, pulled 8'. |
11-06-81 Installed 17 each, 7/8" x 8' rock bolts with resin

anchors, and drﬂled for 1-1/8" x 16’ rock bolts on
4' x 4* pattern at CS 0+10.

11-06-81 0+41 " Installed 5 each, 1-1/8" x 16' rock bolts on &' x
4' pattern in upper ribs and back at CS 0+10.

11-09-81 0+49 Blasted 8' round, 88 holes, 7 cases powder.

11-10-81 0449 Installed 12 each, 7/8" x 8', resin anchor rock
bolts in back and upper ribs. Also 9 each,
1-1/8" x 16’ at CS 0+10 to CS 0+14.

11-16-81 0+49 ~ Drilling 8' round, 7 cases powder. |
11-17-81 0457 ~ Drilled 14 each, 7/8" x 8', 4 x & pattern resin.
anchor.
11-18-81 0+57 Orilling 8' blast round, also drilling for 1-1/8" x
1le', & X 4 at CS 0+16.
11-19-81 0+65 Blasted 8' round. Installed 9 each, 1- 1/8" x 16',
- 4" x 4, resin,CS 0+16. ‘
11-20-81 0465 Installed 16 each, 7/8" x 8' on 4' x 4 also 5
. each, 1-1/8" x 16', &' x 4', resin CS 0420
11-23-81 0465 Drilling 8' round. Also drﬂling for 16' rock bolts
‘ at CS 0+24.
11-24-81. 0472 .Drilling 7' round. Also installed 5 each, 1-1/8"
: X 16' rock bolts across back at CS 0424, )
11-30-84 0+72 Installed 14, 7/8" x 8' rock bolts. Installed

1-1/8" x 16' rock bolts at CS 0+28.

12-01-81 - 0472 - Blasted 6' round. Also installed 5 each, 1 1/8" x
' 16' rock bo1ts in back at CS 0+28. '

12-02-81 0+78 Installed 16 each, 7/8" x 8°'.
' Formatfon chaMin back at CS 0+60 jfaulJ
Back at CS 0460 = Red Welded Tuff.
" Back at CS 0478 = Grey Tuff 3Ibe'low roofline.




DATE
12-03-81
12-04-81

12-07-81
12-08-81

12-09-81

12-10-81

12-11-81
12-14-81

12-15-81"

12-17-81

12-18-81

01-05-82
01-06-82

01-28-82

01-29-82

02-02-82
02-08-82

02-11-82

© 02-16-82

02-18-82

to

 STATION.

0+78
0+85

0+85
0+85

0+93
0+93

0+99
0+99

0+99

0+99

0+99

0+34 (btm)
0+99 (top)

0+70 (btm)
0490 Top)

0+80
0+98 (btm)

0498 (btm)

0+98 (btm)

0498 (btm) .

U12G ROCK MECH ORIFT

ACTIVITY
Drilling for 7* blast round top slice, 17'w x 11°h.

8lasted 7' round. Installed 14 each, 7/8' x 8
rock bolts in back with resin anchors. Drilling for
4' x4 pattern 1-1/8" x 16' at CS 0+80+ Top 2' in
arch,) ight grey tuff -- remainder of drift in red
welded tuff.

Orilling for 1-1/8" x 16' rock bolts at CS 0+80.
Installed 1-1/8" x 16' rock bolts at CS 0+80 to
CS 0+68. 5 rock bolts per ring in back, 4' x &'
pattern. ' ' . '
Blasted 7' round.

Installed 5 each, 1-1/8" x 16" rock bolts in back
at CS 0+34.

Blasted 7' round.

Installed 28 each, 7/8" x 8' rock.bolts from

CS 0+84 to CS 0+99.

Drilling 1-1/8" x 16' rock bolts at CS 0+95 toward
€S 0+99. ,

Installed 1-1/8" x 16' rock bolts at CS 0495 toward
CS 0+99. Orilling for-1-1/8" x 16' rock bolts from
CS 0+40 to CS 0+50.

Completed top cut.
rock bolts at CS 0+58.

Began mining bottom bench at CS 0+10.
Bottom slice at CS 0+34.

Installed 1-1/8" x 16°.

7' blast.

Installed 5 each, 1-1/8" x 16' rock bolts at
CS 0+42, CS 0+46, and CS o+so top slice face.

Bottom slice at CS 0+80. - ‘
Removing 12" from RM drift invert.

'Began installing 7/8" x 8' rock bolts in lower

ribs.

Installed 10 each, 1-1/8" x 16!.rook boits from"
CS 0+48 to CS 0+60. ($#d < e« _~ar =258

Completed 7/8" x 8' rock bolts in ribs to CS 0+98.
Rock mechanics drift completed to CS 0+98.




"-’-‘ 53_'. " * :'.:’

3\ Ridsvadl WHeareR o
Y ATALE e eRaiacn L
LS [ ] et ® .. -2

e

i)
L5

2 rAll S
kIAr 4 kﬂ‘n

53

15 '-r“. Ny ti 450
gyey )

N0y

s

AL e L G A e s e i
o ta Rity i i . o i ; - - 7 : 2 3

" o

,

o A
A v

.
.
) !
- v, . . L NS FR o adee, o
H N % et - OV IR PR INL S ST 2
’ -
- 2 waa” el AW teeel ey Tmaw e R . . .
- = RGRE Sttt ET A A - - '
. A !
[ - » . L.
- - : sl .'.T:'..‘é-.-‘,-.
- - -
. - -' - -



k 3
+

‘,USER.}_;AAI_M‘A.__—-——-‘

'FENIX & SCISSON INC.

DAILY MINE INSPECTOR REPORT

FILE

wepecron: s se e o sHIFT 133 oave W/ep J(/-2- 51
. ‘ FROM_CS I C FACE +
Jos f/ 22 & TIME LOCATION
: to_L )0 LAST SET : + NO.
|'ggg=#'2’ff z-lu- .
' REMARKS & RECOMMENDATIONS PERSONNEL
(/(28-RM -FrpR. Drer 165w x 16X 14 ° suPt
. . _ WALKER
_Cooomprergy DRieeive $ox 50 X 12% (eayr Roounwo Etiie Dane| TR |
Riour 0’8 Recie Meen AiciwE Fed Squanine e Faceln Prep OPER 2
CeMinvive B M Fxper Daser. ' MECH [
MINER 2
ELECT
BULL GANG J
8. G. FORE
” LABOR
. MHebnree W
1R 1LY
DELAYS (TIME & REASON)
ToTAL |7
SPECIAL ITEMS (ACCIDENTS, UNSAFE PRACTICES, BAD GROUND CONDITIONS, ETC.)
ORTED TO COMPANY TIME ‘DATE

REPLY:




a
4

: . o ' )
. USER S ANDIA A - FENIX & SCISSON INC., FILE
' DAILY MINE INSPECTOR REPORT
-gpecror: WAL HER . . sHiFr 1 @3 ’DATE_WLDJ_//';‘{ - 91
~ o FROM_L2 € 2¢? : FACE G +#4
sjo8 /12 € R Jp— o+
# n - fo_1r¢co MM 2+2% o,
WALKER
SHIFTER ||
OPER
Drtieip Forp t{nsracro Wiree Resin Ancwors [ 7- %X 8’ MECH
. ' s J40° 2. - | MINER 3
| ' ' eect |4
‘ s e - ’ Ree B B, ory O 37 A’ [eue cans
 Parrmah lacosmPdiETE. 8. G. FORE
: ‘ LABOR
- Hemainee W/
Arce R b}
DELAYS (TIVE & REASON)
TOTAL |4

SPECIAL (TEMS (ACCIDENTS, UNSAFE PRACTICES, BAD GROUND CONDITIONS, ETC.)

ORTED 7O - B COMPANY ' TINE DATE
REPLY:




>

vsen TANDCA " EENIX & SCISSON INC.

M,cuep lar 1l Can Leaps WWird CIMC O Lesapen

FILE
DAILY MINE INSPECTOR REPORT
wsps&roa: hW/arneRr sHIFT v )3 oave Ly Il -6 -S1
fRoM_(? £ 30 FACE 2+ 4
yos {712 G TIME ..mcmen-pR Eve S+ 4
' REiWM -
0l C0 LAST-SET L+323 NOL
#1yp 8- /e o
.« . : REMARKS & RECOMMENDATIONS PERSONNEL
. Minnwe
17126 -RM Expr Dater [lko x 16.55% x1up’(Top Sizcrion ) SUPY
T : : I WALKER
SHIFTER

OPER
, [Zg[“ cnre 8 Rensyr Reonrnfaeempiere. MECH
' . @ bott> MINER
Driicine Feg b farsrave e 1En X gg.\‘]ég; ,'f:m e pPeRT Lo ELecy
Verer Rigs ¢ Bacit OGN A 4'X4 P, € o+ BULL GANG) -
Face IacombPere : . : -, B. G. FORE
\ \ , , / j“i-)'/,'.-‘,x:'}' LASOR
. A\ A e AN/ VR
: _ X M N\ '!"".5}1"5],"’“‘ ALCicR
- N et xainh NE il
Caeonp Yo oAt BoeTs \
-/ | \
/ \
DELAYS (TIME & REASON] |- \
|
TOTAL

SPECIAL ITEMS (ACCIDENTS, UNSAFE PRACTICES, BAD GROUND CONDITIONS, ETC.)

3ORTED TO COMPANY TIME

DATE

REPLY:




-

useRSAND A FENIX & SCISSON INC. ' FILE
A DAILY MINE INSPECTOR REPORT.
wspecron: lalacwen o SHIFT 13 oaveWep 12 -2 -5
FROM_0R 9. J.© : FACE 2 +Z8
Jos LLI2C Tive ' | rocanion PAEY: _ © +93
vo_lfeo LAST seT R8s Wm D +2¢ __NoO.
!gg""?ms’!ao ' o
. . REMARKS & RECOMMENDATIONS . ' . PERSONNEL
| Myvine : -
£- . 1E v X 1.6 X 140’ (Tofftcﬂ'cu) Ames SuPT
Bace ({212 | - - — e ]
' : : ‘ SHIFTER \
7 ‘ AST y ‘ ' =p G OPER 2
‘ MECH I
_Quu.e.p_[.m}_LM.u:u_Eﬂ 1e-% v 8" okt Boers In Bace ¢ MINER 4

| Riss Wi ru Resin Ancuens, ELECT

BULL GANG e
o

| Huwc ) Weae \ioe Mecy 2087 % 6. c.Fore |
' | : : LABOR

zmwm_mwmm&&mmm Oot |tarmagen s

Oe¥a Avcove WHerE M,,“ Was STo0RED ' . JAtae |5

FPFPH;LAKT .DA’ILL/AIC Z DaordsT ﬁ’ouﬂp.

DELAYS (TIME & REASON)

| Jn Bacw ® 0180 Forakion CraneiNe Frem Ran Wrc.pr-:o Tver
_Te Licesr Crey Now Weeneon TQEE On Avorox = NON lA/c ggo
Qg;x [Tvef [u Bace © 0+2% = 3" Tuice

TOTAL 5’

SPECIAL ITEMS (ACCIDENTS, UNSAFE PRACTICES, BAD GROUND CONDITIONS, ETC.)

| He Ds:.gg Govi [2 (RECTED Ac-rwl'ry

‘ORTED TO COMPANY ’ TIME DATE

REPLY:




‘d

. ' ' \
UstR adleacdls 8 ~ FENIX & SCISSON INC. FILE
DAILY MINE INSPECTOR REPORT _
"WSPECTOR: 2z £ 20 i SHIFY (33 OATEZog £e 2 =llp =5 2s
| frRom o2 Z.7 FACE : 2+29
sos Ll 2 E TIME LOCATION
. R TY Y- " LASTSET__ + NO.
& 220 Z' __Lg_ fod - ' _
., REMARKS & RECOMMENDATIONS . PERSONNEL
' BME weo 67 47X 27 . N
. ' ' WALKER
’ %~ e ‘ et  |sweren [y
OPER {
MECH
‘ : ; ‘ : MINER 7
| LD LPrnder Loron 2o 7o o292 ° ELECT
' BULL GANG
: B. G. FORE
LABOR
”‘—\-
e’
- Aelopre
S
DELAYS (TIME & REASON)
TOTAL é
SPECIAL ITEMS (ACCIDENTS, UNSAFE PRACTICES, BAD GROUND CONDITIONS, ETC.)
/
'ORTED TO _ - COMPANY TIME . © DATE
REPLY:




